#### **OH APPRAISAL SERVICES**

BLK 34,#02-309,TOA PAYOH,LORONG 5 **SINGAPORE (310034)** 

Mobile: 97982959 Fax: 63975857 email: oh3434@yahoo.com.sg Business Regn No 53214975X

### VEHICLE DAMAGE INSPECTION REPORT

Mr. Mohamad Zulhaimi Bin Razali

Blk 427 Jurong West Avenue 1

#06-232

Singapore 640427

Our Ref

: FBH2216R/TP5020

Date

26 May 2020

REFERENCES

Claim Type Vehicle No.

Reg. Date

Odometer

Make

Model

Color

Front

Rear

Third Party

: FBH2216R

: Yamaha : Fz16St

: Black

16 April 2013

: 62226 km

Date of Accident

Date of Assignment Date of Inspection

Date of Re-inspn. Chassis No Engine No

:17 September 2019

:20 September 2019 :20 September 2019 :04 October 2019

#ME145S09CC2025022

Blocked

TYRE CONDITION

Make

Michelin Golden boy Size 2.75-178 80/90-17

Thread Balance

3 4

# GENERAL DESCRIPTION OF DAMAGE (PHOTOGRAPHS ATTACHED)

Front and Both side portion

#### INSPECTION AND ADJUSTMENT

Original Quotation

\$5,475.60

Revised

\$3,300.00 Lump sum

Assessment

In normal circumstances, repairs to the vehicle would take approximately (5) days to complete.(Survey at Hua Chin (2000) Trading Motor Service Centre.)

This survey was conducted on a "WITHOUT PREJUDICE" basis.

In accordance to your instruction, we have not authorized repairs.

			Ì	Original	Revised
S/N	Description	Qty	Condition	Quotation	Quotation
	Material			5,43.5.5.6.6	
1	Front cowling	1 pc	Grazed	180.00	180.00
2	Front windscreen visor	1 pc	Usable	85.00	0.00
3	Front cowling bracket	1 pc	Bent	65.00	65.00
4	Air shroud @\$80/-	2 pcs	GrazedCut	160.00	160.00
5 .	Handle bar	1 pc	Bent	120.00	120.00
6 -	Handle bracket @\$40/-	2 pcs	Bent	80.00	80.00
7	Handle balancer	1 set	Grazed	30.00	30.00
8	Handle grip	1 set	Cut	20.00	20.00
9	Clutch lever	1 pc	Bent	22.00	22.00
10	Brake lever	1 pc	Bent	24.00	24.00
11	Mirror @\$28/-	2 pcs	Cracked Rh	56.00	28.00
12	Head light assy	1 pc	Grazed	195.00	195.00
13	Head light bracket @\$30/-	2 pcs	Bent	60.00	60.00
14	Front signal light @\$42/-	2 pcs	Grazed	84.00	84.00
15	Front mudguard	1 pc	Grazed	98.00	98.00
16	Front fork assy @ \$380/-	2 pcs	Bent	760.00	760.00
17	Steering stem	1 pc	Distorted	180.00	180.00
18	Front rim	1 pc	Bent	380.00	380.00
19	Front brake disc	1 pc	Usable	165.00	0.00
20	Fuel tank	1 pc	Dented-repair	640.00	S.N. 150.00
21	Tank side cover @ \$80/-	2 pcs	Grazed	160.00	160.00
22	Brake pedal	1 pc	Bent	45.00	45.00
23	Front footrest	1 pc	Bent	55.00	55.00
24 ·	Footrest bracket Rh	1 pc	Bent	90.00	90.00
25	Tail board	1 pc	Grazed	250.00	250.00
26	Exhaust muffler protection cover	1 pc	Dented	65.00	65.00
27	Exhaust protector (rear)	1 pc	Dented	35.00	35.00
28	Exhaust pipe assy	1 pc	Dented-repair	680.00	S.N.200.00
				4,784.00	3,186.00
		Less 10	% discount	478.40	318.60
				4,305.60	2,867.40
	Add special nett item from above				250.00
29	Steering cone & bearing	1 1 00	Necessary	80.00	350.00 40.00
30	Rear box	1 pc 1 pc	Grazed	300.00	280.00
31	Rear rack	1 pc	Bent	150.00	
31	INCAL FACK	l i bc	Dent	150.00	120.00
	Towing fee (Two ways)			60.00	50.00
	Check electrial			80.00	60.00
	Labour charges			500.00	400.00
				5475.60	4167.40
	Lump sum repair adjustment				3300.00
	þ-r				

## **OH APPRAISAL SERVICES**

Vehicle No: FBH2216R

Our Ref : FBH2216R/TP5020

## ADJUSTMENT ON REPAIR COST AND REPLACEMENT OF PARTS

The information contained in this document is privileged and confidential and is intended for the exclusive use of the addressee designation. If you are not the addressee; any enclosure, reproduction, distribution or other dissemination or use of this communication is strictly prohibited. If you have received this document not meant for you, please contact us immediately to arrange for it to return.

For Oh Appraisal Services























































































































































































































